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IBM P2050-006 : Practice Test

Question No : 1

How many primary products are in the IBM ILOG Supply Chain Applications Suite?

A. One. They are all sold as one product.
B. Three: LNP XE, IPFA, and TA

C. Four: LNP, LNP XE, IPFA, and TA

D. Five: LNP, LNP XE, IPFA, TA, andS&S

Answer: B

Question No : 2

What features does TA (Transportation Analyst) have?

A. Ability to model multi-stops, rest requirements for drivers, out-of-route constraints,
andpost solve editing.

B. Multiple time periods for annual or seasonal planning, unlimited BOM, tax modeling.
C. Ability to optimize the fill rate, model the supplier lead time and variability, and transit
time variability.

D. All of the above.

Answer: A

Question No : 3

Instead of specifying a max number of stops directly, you can also add what type of cost to
limit the number of stops?

A. Maximum number of breaks.

B. Stop off charges that increase withthe number of stops.
C. Increase in the cost per mile for a truck.

D. Increase in the size of the trucks.

Answer: B

Question No : 4
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